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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1- 'What was intended as a peaceful demonstration rapidly -—--—- into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party ---------- 70) percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
3- Some animals can -----——-- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand
4- Researchers have discovered that up to one half of all children born of alcoholics are

genetically -———- to alcoholism,

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important --- to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major -—---—- for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7-  Itis a common -—-—-—- that women are worse drivers than men,

1) essence 2) impetus 3) fallacy 4) amusement
8- The for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to —————- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

r—

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11} —=—mmemee - the British Dominions were recognized as ‘autonomous communities’, (12) -------
the British Crown. Since 1947, when India chose (13) ==meeee-- - within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
15 the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15} ------—--- head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 2) which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1) to remain 2) remaining 3) for remaining 4) to be remained
14- 1) by 2) out of 3) within 4) outside

15- 1) for 2) to who is 3) to that of 4) that she is
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' Part C. Reading nmpreheusiun

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). |
| Then mark it on your answer sheet.

PASSAGE 1:

The carrying capacity of a biological species in an environment is the population size of
the species that the environment can sustain in the long term, given the food, habitat,
water and other necessities available in the environment. For the human population,
more complex variables such as sanitation and medical care are sometimes considered
as part of the necessary infrastructure.

As population density escalates, birth rate often increases and death rate typically
decreases. The difference between the birth rate and the death rate is the "natural
increase". The carrying capacity could support a positive natural increase, or could
require a negative natural increase. Thus, the camying capacity is the number of
individuals an environment can support without significant negative impacts to the
given organism and its environment. Below carmrying capacity, populations typically
increase, while above, they typically decrease. A factor that keeps population size at
equilibrium is known as a regulating factor. Population size decreases above carrying
capacity due to a range of factors depending on the species concerned, but can include
insufficient space, food supply, or sunlight. The carrying capacity of an environment
may vary for different species and may change over time due to a vanety of factors,
including: food availability, water supply, environmental conditions and living space.

16- What does the passage mainly discuss?
1) Population Density 2) Sanitation and Medical Care
3) Environmental Conditions 4) Carrying Capacity of an Environment

17- The population size of the species that the environment can is called the carrying
capacity of a biological species.

1) handle in the long run 2) assist in the long term
3) finance in the long run 4} confirm in the long term
18- According to the passage, more complex variables such as -—--eee-e- and medical care are
sometimes considered as part of the necessary infrastructure for the human population.
1) sterility 2) disinfection 3) public health 4) good hygiene
19- Which of the following occurs when population density increases?
1) Birth rate seldom increases. 2) Birth percentage often declines.
3) Death rate usually decreases. 4) Death percentage usually increases.

2(- What is the element that stabilizes population called?
1) sunlight 2) food supply 3) regulating factor 4) insufficient space
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PASSAGE 2:

If environmental food supply is abundant (for humans, for example), twinning may
result. As a consequence, parents then typically also devote less care to each offspring
in other ways, as the young may manage on their own with abundant food supply. Such
parents have as many offspring as possible, by starting early and repeatedly breeding.
When environmental conditions deteriorate as a result of expanding population, they
may K-shift (i.e. revert to smaller numbers of offspring) via the more conservative
strategy of betting on a few well-placed shots. When a species is already exploiting the
environment near the limits of carrying capacity (which includes food availability but
also nesting sites, etc.), a wise strategy is to produce a limited number of offspring,
devoting considerable care to each.

Since this also applies to humans, two questions immediately arise: How is the "boom
time" R-shift (reversion to larger numbers of offspring) implemented? Is sexual
maturity sped up, or is it juvenile growth rate, or perhaps both? And what is the tngger,
which aspects of the environment are "read" for the forecast? If one is ever to replace
this corner cutting "quantity is better than quality” philesophy, and effectively combat
its fatalistic "life is cheap" corollary, we need to understand what drives it. (The
"hangover" following a reproductive "binge" is better known as a population crash.)

What would the possible topic be for the above passage?

1) Relation of Environment to Fertility

2) More Conservative Strategy of Betting

3) Deterioration of Environmental Conditions

4) Devoting Considerable Care to Environment

If environmental food supply is abundant (for humans, for example), -------- -.

1) living things create offspring

2) parents devote less care to offspring

3) the young may manage on their own

4) the old revert to smaller numbers of children

What does “deteriorate” in line 5 refer to?

|) improve 2} worsen 3) ameliorate 4) develop
According to the passage, when a species is already employing the environment near the
limits of carrying capacity, a wise strategy is to --——-—- -,

1) give remarkable care to offspring 2) devote considerable care to children

3) revert to a large number of offspring 4) give birth to a small number of children
What does * corollary” in line 16 mean?

1) mainstream 2) consequence 3) conviction 4) foundation



Download From: MASTERTEST.IR

AMWIYA acdipsy pome (F) (peuasi g pogac) ol L)

PASSAGE 3:

Agricultural capability on Earth expanded i the last quarter of the 20th century. But
now there are many projections of a continuation of the decline in world agricultural
capability (and hence carrying capacity) which began in the 1990s. Most conspicuously,
China's food production is forecast to decline by 37% by the last half of the 21st
century, placing a strain on the entire carrying capacity of the world, as China's
population could expand to about 1.5 billion people by the year 2050. This reduction in
China's agricultural capability (as in other world regions) is largely due to the world
water crisis and especially due to mining groundwater beyond sustainable yield, which
has been happening in China since the mid-20th century.

It should also be noted that because modern agriculture relies on hydrocarbon fuels, any
decline (whether artificial or depletion-based) in those supplies could potentially impact
the world's human carrying capacity. Industrial agriculture relies on petroleum-driven
equipment, natural gas-based fertilizer, petrochemical pesticide, and diesel-fueled
trucking. Organic farming can reduce this factor (though generating fewer resources per
acre), but the tractors and trucks currently run on these fuels.

26- What does the passage mainly discuss?

1) China’s Food Production in the 20™ Century

2) Possible Reduction of Earth’s Carrying Capacity

3) Mining Groundwater Beyond Sustainable Yield

4) Continuation of Decline in World Agricultural Capability
27- Although agricultural capability on Earth expanded in the last quarter of the 20" century

=== the 1990s.

1) sexual maturity has sped up in

2) juvenile growth rate has decreased since

3) agricultural capability has diminished in

4) the carrying capacity of the environment has increased since

28- According to the passage, China’s food production is --—-—--—— -~ by 37% by the last half of
the 21* century.
1) predicted to lessen 2) forecast to increase
3) expected to increase 4} understood to lessen

29- If the author is right, then the reduction in China’s agricultural capability is NOT because
]
1) the existing world water problem 2) exploiting groundwater wisely
3) extracting groundwater excessively 4) the crisis in obtaining water worldwide

30- The reduction in fossil fuels affects the world’s human carrying capacity because —-—,
1) modern agriculture can reduce the effects of those supplies
2) organic farming can reduce the effects of those supplies
3) modern agriculture depends on hydrocarbon fuels
4) organic farming depends on hydrocarbon fuels
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